Reason for Decision/ JNDT Find 1

JNDT 2001 Final Round
Debate Ballot (Reason for Decision)

(Chief Judge) (Negative Vote)

AD 1: Negative US Asa x 2
Inherency
2AR
AD 2:Negative  Minor Repair PKO AD2
PKO Not Unique PKO PKF
Surely PKF Die Turnaround Stands
Negative
(Negative Vote)
AD 1: Negative uU.S. Case
Negative E.U. ( E.U.
)
Affirmative
East Asian
( )
Plan
AD2: PKF

Negative  Turnaround

I mpact
Minor Repair

AD1 2

(Negative Vote)

2nd Rebuittal
AD2, DA1, Counterplan
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AD 1. ( ) US

Absolute Slightly Stands
Turnaround 1: ( )
Turnaround 2: PKF

Plan
AD1(Risk ) —=Turnaround 2( )
AD1 Turnaround 2 off-set

(Negative Vote)

AD 1 Summarize (by 2AR)  dlightly remains

SQ) U.S. decline China Asia( ) expand other
country  expand
AP)U.S. JPN China  suppress China expand
other country  expand
2AR sol Inh
China

(But not enough) In future, expand by China

Turnaround on AD 1 summarize (by 2NR)

(1 ) China expand U.S. suppress
(2 ) China expand success AD
Reason
1%:U.S.  Japan
2" nuclear resource  China
1% uQ 2" UQ AD1

Turnaround on AD 1
AD 1 off set turnaround (Japan involved)




AD 2 summarize (2AR)

At least

Solev
in Asia

sol

Turnaround

(SDF die) (by 2NR)

uQ

Conclusion
Plan

uQ

Plan

(Negative vote)
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But value

I’m against resolution.

1: Counterplan gone.2: DA'1 gone 3: DA2 gone.

4:AD 1
Inherency( )
A)5,A)6 Inherency
( Turnaround in AD 1 )
(= )Inherency
( Turnaround )
Inherency(U.S.)
u.S u.Ss
Negative [  Asa ]
Affirmative [ ]
Negative
Solvency (35.000) (1AR drop)
AD1 0, Turnaround remains (alliance )
Vaue AD war risk Turnaround
outweighs AD 1
5 AD?2
Solvency( )
Affirmative INC cardattack drop Affirmative  evidence

solvency



Inherency(negotiation )

Turnaround SDF death
Plan
proof
New conflict impact
of f-set

AD 1
Affirmative

Turnaround  vote
AD1 future
AD1 grant

) AD2 SDF Turnaround
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Inherency
Impact
plan
turnaround  impact
Turnaround ( AD1
(NAFA )

ESA)



